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T JANGAN BUKA KERTAS S.ALAN lNISEHINGGA DIBERITAHU.
I Do NOI )PEN THIS B}1KLET UNTILYOU ARE TOLD TO DO SO,

T ARAHANKEPADACALON:II
I Kertas soalan ini mengandungi 6 soalan.

Jawab semua soalan pada buku jawapan yang disediakan.

Markah penuh yang diperuntukkan bagi tiap-tiap soalan atau bahagian soalan ditunjukkan dalam kurungan pada

penghujung soalan atau bahagian soalan.

Semua langkah kerja hendaklah ditunjukkan dengan jelas'

, Kalkulator saintifik yang tidak boleh diprogramkan sahaja boleh digunakan.

- Jawapan berangka boleh diberi dalam bentuk 7T, e, svrd, pecahan atau sehingga tiga angka bererti, di

mana-mana yang sesuai, kecuali jika dinyatakan dalam soalan,

INSTRUCTIONS TO CANDIDATE:

This question booklet consists of6 questions.

Answer all questions in the answer booklet provided.

The full marks for each question or section are shown in the bracket at the end of each of the question or section.

All steps must be shown clearlY'

Only non-programmable scientific calculators can be used.

Numerical answers can be given in the form of n, e, surd, fiactions or up to three significant figures, where

appropriate, unless stated otherwise in the question.

Kertas soalan ini mengandungi 7 halaman bercetak.

This booklet cons,.sfs of 7 printed pages'

@ Bahagian Matrikulasi
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I1 Giverl 4=l+2i and zr=3-2i. Express ,r* ,, intheformof a+bi

where z, is the conjugate of zr.

15 marks)

2 Solve 4" *3".2* -4=0.
17 marlcsl

lz 3 6l
3 (a) Find the determinant ot e=16 2 -3 l.

[, -6 2)

v

v

13 marl*l

(b) Given a =log,2 and b =loBr 3, express 
^r,(*l 

in t.rrn, or-r[ 4 )
a and b.

14 marlal

17 marksJ

5 (a) The sum of first n terms of an arithmetic progression is Sn =2n2 +7n.

Find the first term and the corlmon difference.

Hence, find the 8th term of the progression.

[6 marlu]

.L

(b) Expand 1t*Z*)' in ascending powers of x until the term including x3.

By substituting x = *, evaluarc J* correct to four decimal places.

16 marlrsl



l-z r rl lorrl
6 Given ,=l 3 -2 ,l una n=lz , t l.

l-, 2 -t) [o 3 1]

(a) Show that AB =61.

(b) Deduce l-r.

13 marks)

3
E{marksT
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(c) Hence, solve the following system of linear equations.

-4x+2y+22 =l
6x-4y+22 =2

*2x+4y-22=t4 
6

lSmarksl
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